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Question No. 1

A labeled statement consists of an identifier followed by-

A) Equal to B) Colon

C) Semicolon D) Comma

AT TeeAT A & 915 T SSRERT giem &

A) seX (Equal to) B) el (Colon)

C) 3eifaRrer (Semicolon) D) 3feufadrd (Comma)
Answer Key : B Your Response : B (Correct)

Question No. 2

What is the device used for measuring the power in an optical signal?
A) Optical multi-analyte meter B) Optical spectrometer

C) Optical power meter D) Optical fiber length meter

3iifteser T3 (optical signal) 3 9laX & AN & fAT FE IYFHIOT FT 39AT FHAT SATAT 8?2
A) 3ifCeda ag—%%ﬁw #HreT (Optical multi- B) 3ifteshel Taerder (Optical spectrometer)

analyte meter)

C) 3fiftead diay #HeX (Optical power meter) D) 3fifteahdd WSS oeds Hiex (Optical fiber

length meter)

Answer Key : C Your Response : A (Wrong)

Question No. 3

The intermediate frequency of a superhetrodyne receiver is 450 kHz. If it is tuned to 1200 kHz,
the image frequency will be-
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A) 1600 kHz B) 2100 kHz
C) 900 kHz D) 750 kHz
T eSS HATS! (receiver) Hr Hegadt gfed 450 kHz &1 Ife 3& 1200 kHz W &g
forar s &, o wfafs smgfea == gefre
A) 1600 kHz B) 2100 kHz
C) 900 kHz D) 750 kHz
Answer Key : B Your Response : Not Answered

Question No. 4

When the function is defined inside a class, it is called-

A) Inline function B) Member variable

C) Member function D) Data function

ST HeRleT A fordr Fee & 3ieX aReia R arar 8, ar 3@ &gl I gl

A) SoTarsd % (Inline function) B) #¥«x aRuaal (Member variable)

C) #FsX BT (Member function) D) 3er Haeld (Data function)
Answer Key : A Your Response : C (Wrong)

Question No. 5

Which of the following is an example of an active device?
A) Electric bulb B) Transformer

C) Resistor D) Transistors

ffaf@a & & ST a1 aFT ITRT F7 3GEIOT &7

A) Tegd soa B) TEWHER
C) IAEX D) gifaEex
Answer Key : D Your Response : D (Correct)

Question No. 6
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Which of the following memories can be programmed once by the user and then cannot be
erased and reprogrammed?

A) EEPROM B) ROM

C) Flash Memory D) EPROM

A F ¥ i & AR, 3T G@RT Fad TF GR WA A ST TR § IR 3EF wraa
fReré 3R g1 s it #r S wEdr?

A) EEPROM B) ROM
C) wolel AARY D) EPROM
Answer Key : B Your Response : B (Correct)

Question No. 7

In which of the following types of A/D converter does the conversion time almost double for
every bit added to the device?

A) Successive approximation type A/D B) Single slope integrating type A/D converter
converter

C) Counter type A/D converter D) Tracking type A/D converter

feT &% & 59 YR & AD Fady & Basd # Joa a 9% [T F AT Faiawor el
SIS QAT BTl &7

A) TFaf8T THFHHATT TR A/D Helde B) f&erer TalT sERIfEar esg A/D &helaex

C) @3eX TBT A/D FHAac D) 2fer @39 A/D Felac

Answer Key : C Your Response : B (Wrong)

Question No. 8

is used for transmitting files between computers on the Internet over TCP/IP

connections.
A) FTP B) ASCII
C) BCD D) HTTP

I YA T W TCP/ IP FARA W FHYET & &I WIgel Hl THIRT FA F
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fore famar S @1
A) FTP B) ASCII
C) BCD D) HTTP
Answer Key : A Your Response : A (Correct)

Question No. 9

The RF signal strength at any point of the cable is measured by-

A) Wobbuloscope B) Field strength meter
C) Oscilloscope D) Multimeter
shaer & AT 8 fig X RF Hehe ofiadm (signal strength) &I SaRT AT STl gl
A) digell TR (Wobbuloscope) B) &= dgar A (Field strength meter)
C) 3iTfaciEhg D) #HAedHe

Answer Key : B Your Response : A (Wrong)

Question No. 10

Which of the following keyword is used to transfer control from a function back to the calling
function?

A) Return B) Goto

C) Go back D) Switch

ffaf@a 7 & Fa fiag &1 39T R PR A Fifr FREA W AR Held e &
v fFar anar &2

A) Rea (Return) B) diig (Goto)
C) 3 §& (Go back) D) &= (Switch)
Answer Key : A Your Response : D (Wrong)

Question No. 11

Which of the following components store energy in the form of electrical charges?

A) Capacitors B) Transformers
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C) Resistors D) Inductors

freafaf@a & & i a1 geF Rega 3w F &7 F Foit FIda Far 87

A) e B) TR
C) IaFX D) g3&eX
Answer Key : A Your Response : A (Correct)

Question No. 12

Alloy used for making permanent magnet is-
A) Zamak B) Alnico

C) Silumin D) Duralumin

TR g+ (permanent magnet) Sl F AT ST A e gl
A) STH® B) 3ffcetehr
C) faaf D) s
Answer Key : B Your Response : B (Correct)
Question No. 13
OSI stands for-
A) Open System Interdependence B) Open Site Interconnection
C) Open Site Interdependence D) Open System Interconnection
OS| &1 qof &7 = 872
A) 309 BEeH gxfsisy B) 39 HIST Sclholalel
C) 39T I8¢ scifsvusa D) 39T RAEeH Sciaaiaere
Answer Key : D Your Response : D (Correct)

Question No. 14

When the peak power is 1000000 watts and the average power is 800 watts, then the duty
cycle is-
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A) 0.08 per cent B) 0.008 per cent

C) 0.8 per cent D) 8 per cent

Ja 3RaH AT (peak power) 1000000 are § 3R 3ita affa (average power) 800 are &,
dr 3UANACT 39T (duty cycle) T gRT?

A) 0.08 gfaera B) 0.008 wfaera
C) 0.8 gfaera D) 8 wfaerd
Answer Key : A Your Response : A (Correct)

Question No. 15

Which of the following is used to change "Siva" into "Ramu” in the "FirstName" column in the
Students table?

A) UPDATE Students SET FirstName='Siva’ B) MODIFY Students SET FirstName='Siva'

INTO FirstName='Ramu' INTO FirstName='Ramu'
C) MODIFY Students SET D) UPDATE Students SET FirstName='Ramu'
FirstName='Ramu' WHERE WHERE FirstName='Siva'

FirstName='Siva'

ot 3 @ Fuer 39Aer oEr fr aifesr (Students table) 3 "FirstName" Hieid & "Siva" i
"Ramu" & Scols & faT fRar Siar £2

A) UPDATE Students SET FirstName='Siva’ B) MODIFY Students SET FirstName='Siva'

INTO FirstName='Ramu' INTO FirstName='Ramu’

C) MODIFY Students SET D) UPDATE Students SET
FirstName='Ramu' WHERE FirstName="Ramu' WHERE
FirstName='Siva' FirstName='Siva'

Answer Key : D Your Response : D (Correct)

Question No. 16

Corrosion or rusting can be prevented by-
A) Electroplating process B) All of the options

C) Painting the surface of the metal D) Oiling the surface of the metal


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

HETROUT T ST o9Tey I VT ST FehaT &l

A) seagIcalfeer Ifshar ganT B) fasreul & & @it
C) YId I HAE W U Hleh D) €rq &I A T del MR
Answer Key : B Your Response : B (Correct)

Question No. 17

The number of flip-flops required in a decade counter are-
A) 10 B) 2

C) 3 D) 4

f3%hs #13eT (decade counter) F AU F FAT-FATT T HEAT fhceir giar 872

A) 10 B) 2
C) 3 D) 4
Answer Key : D Your Response : A (Wrong)

Question No. 18

Which of the following is/are an operations performed on linked list?
A) Traversal B) Deletion

C) Insertion D) All of the options

Afaf@a & @ 9 ar e e e W fHar Jar 82

A) ¢atde (Traversal) B) Siferera (Deletion)
C) sad= (Insertion) D) fasedt # & Telr
Answer Key : D Your Response : D (Correct)

Question No. 19

The range of frequency generated by VHF oscillator is-
A) 300 MHz - 3 GHz B) Above 3 GHz

C) 30 MHz - 300 MHz D) 20 kHz - 30 MHz
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VHF @fa (oscillator) ZaRT 3cUeT 3Mqfead & R e gl

A) 300 MHz - 3 GHz B) 3 GHz & 3W

C) 30 MHz - 300 MHz D) 20 kHz - 30 MHz
Answer Key : C Your Response : A (Wrong)

Question No. 20

What is the built in library function to compare two strings?
A) string_cmp() B) strcmp()

C) str_cm() D) str_compare()

ar faw it Jorelr A & fAv el B 7 = A gar 82

A) string_cmp() B) strcmp()
C) str_cm() D) str_compare()
Answer Key : B Your Response : B (Correct)

Question No. 21

The 8085 has two registers known as primary data pointers. These are registers:
A) BandC B) CandD

C) Hand L D) Dand E

8085 # & oY gld & o WrafAs 21 uised & § & e Srar g1 3 oey #la & &2

A) B 3R C B) C3R D
C) H3R L D) D3R E
Answer Key : C Your Response : A (Wrong)

Question No. 22

First In First Out (FIFO) is used in-
A) Stack B) Linked list

C) Queue D) Tree
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HE 3 BEe 3¢ (FIFO), F waer R ST g
A) ¥+ (Stack) B) foilos foree (Linked list)
C) ¥ (Queue) D) ¢ (Tree)

Answer Key : C Your Response : C (Correct)

Question No. 23

In an 8085 microprocessor, the instruction CMP B has been executed while the contents of
accumulator is less than that of register B. As a result, carry flag and zero flag will be

respectively-
A) Set, set B) Set, reset
C) Reset, set D) Reset, reset

8085 ASHINNE H, S WG (accumulator) Fr IdE] SFT B & wA gl §, @Adr CMP
B fAsuified @lar &1 IRumAra®y, F{ wehr (carry flag) 3 STRY wder(zero flag) sherer:

___ g
A) e, AT B) dc, T
C) e, W< D) f¥e, e
Answer Key : B Your Response : B (Correct)

Question No. 24

What type of keyboard is used in fast food store, restaurants and shops?
A) Numeric keypads B) Numeric Keyboard

C) Concept keyboard D) Concise keyboard

& 9hR & HIES FT ITART FRE FF TR, Wl IR ghmt 7 Bhar siar g2

A) =gARS His B) =gaRe #ials
C) HIce HEs D) #f&ica Fres (Concise keyboard)
Answer Key : C Your Response : B (Wrong)

Question No. 25

The first page that you normally view at a Website is-
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A) First page B) Front page

C) Home page D) Master page

, BEE UoT &, O 3T 9Aea: R JedEe W aEd ¥

A) ®EE U B) the U
C) & Ut D) AR U
Answer Key : C Your Response : C (Correct)

Question No. 26

A relay is used to-

A) Sense the fault B) Control low voltage circuits with the help of

high voltage signals

C) Control high voltage circuits with the help D) Break the fault current

of low voltage signals

Rer a1 39T & fav RFar smar gl
A) e H HFEH Hlt B) 3Td dieco fAvsIal &1 A ¥ e dlecal
Tfthe &1 IRT F
C) fa=T alecst RvsTal Fr FAgg & 3Td dlecal D) GV URT FI Seh et
gfthe & T Fe
Answer Key : C Your Response : B (Wrong)

Question No. 27

The electronic circuit that converts AC to DC where the DC output peak value can be greater
than the AC input peak value is-

A) Voltage multiplier B) Clipper

C) Amplifier D) Clamper

_ 3% soaces 9Ruy § St AC @t DC # uRafda #xar ¥ si@i DC 3mseye Rar At
AC Fqc RreR AT ¥ 31t g e &

A) dleest U (Voltage multiplier) B) f&erax (Clipper)
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C) TFTwIA (Amplifier) D) Fel#aX (Clamper)

Answer Key : A Your Response : D (Wrong)

Question No. 28

What is the process of designing more than 100 gates on a single chip?
A) MSI B) SSI

C) LS D) VLSI

Rierer AT W 100 & 310 T BT F=r $r ufhar ia @ 872

A) MSI B) SSI
C) LSI D) VLSI
Answer Key : C Your Response : A (Wrong)

Question No. 29

A conductor is said to be perfectifithas ___ electrical conductivity.
A) Zero B) Finite
C) Infinite D) Unity
T HTelsh (conductor) I qUT €Telh Fgl AT §, 519 $&F __ Ty <rerehar gich 81
A) YT B) ®fAd (Finite)
C) 31d (Infinite) D) T
Answer Key : C Your Response : C (Correct)

Question No. 30

Which logic gate is similar to the function of two parallel switches?
A) NOR B) OR

C) AND D) NAND

fora o AT $r FRYUTET & FARG gt & AT §7

A) NOR B) OR
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C) AND D) NAND

Answer Key : B Your Response : B (Correct)

Question No. 31

The drift of a hole in a semiconductor is brought by-

A) The vacancy being filled by an ion B) The vacancy being filled by a valence

electron from a neighbouring atoms

C) The vacancy being filled by a free electron D) The movement of an atom in the solid

e 7 g (hole) & 319arg (drift) =T SaRT AT fFar Srar g
A) 3T EART #8 g6 Rt B) usRN WA & HASN ol ol g3
Rererar
C) HFd Feidcld aRT 1 g8 Rerefelr D) &g # WA i Ay
Answer Key : B Your Response : A (Wrong)

Question No. 32

Nuclear fuel in the sun is-
A) Alpha particles B) Uranium

C) Hydrogen D) Helium

T # AR due ¥

A) 3TeHI ST B) J¥fAaH
C) gIsgistel D) &iferaH
Answer Key : C Your Response : D (Wrong)

Question No. 33

In case of amplifiers which coupling gives the highest gain?
A) Resistance coupling B) Transformer coupling

C) Impedance coupling D) Capacitance coupling

TRIPRR & AFe # HiT AT I7AT (coupling) FaH 31f8 =T (gain) e &2
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A) 9y gaA=T (Resistance coupling) B) SH®ER oA (Transformer coupling)
C) wfasrer Jara (Impedance coupling) D) enRdr JeA=A (Capacitance coupling)
Answer Key : B Your Response : B (Correct)

Question No. 34

The number of unused states in a n-bit Johnson Counter is:
A) 2" _2n B) on-1

C) 2n-n D) 2n

n-fT ST FI5ET # IHTYss VT (unused states) i HE&AT e gl 872

A) 2n - 2n B) on-f
C) 2n _ D) 2n
Answer Key : A Your Response : B (Wrong)

Question No. 35

What kind of computer program is used to convert mnemonic code to machine code?
A) Debug B) C++

C) Fortran D) Assembler

aAIfAF HIS (mnemonic code) A AMT HT # Fgoat F AT FH YPR F FFYR WNIH
39T fRaT STaT 87

A) 3«91 (Debug) B) C++
C) ®Rer (Fortran) D) 3r@Fse (Assembler)
Answer Key : D Your Response : D (Correct)

Question No. 36

Four terminal approach is used in measuring low resistance because it-
A) Eliminates stray inductance B) Eliminates thermoelectric energy

C) Eliminates the effect of leads and currents D) Eliminates stray capacitance
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UR effdel ™ (Four terminal approach) &I 39T AT wfaRier & Ay & fFar ar §
wiifr I8 |

A) Wacd (inductance) I THTCT T & B) uHfsaliFead Fail &l FATCT AT &
C) oI5 3R 4RT & YT & FATCT HdT & D) 3maifdd aiidr &I TATCT T g

Answer Key : C Your Response : B (Wrong)

Question No. 37

A logic circuit which is used to change a BCD number into an equivalent decimal number is-
A) Decoder B) Encoder

C) Multiplexer D) Code converter

diforeh WfHE FT BCD FEAT H WAGed AGT &N H Feeil & fow waar fhar

ST g
A) 3T B) TS
C) HeCITolFER D) HIg FeldcT
Answer Key : A Your Response : B (Wrong)

Question No. 38
How many digits in binary notation are required for the decimal number 17?
A) 6 B) 4

C) 7 D) 5

AT TEAT 17 & AT S5l et 7 frdsr 3 3O+ g 87

A) 6 B) 4
C) 7 D) 5
Answer Key : D Your Response : D (Correct)

Question No. 39

Which of the following in NOT a type of Internetworking?

A) Intranet B) Extranet
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C) Local Area Network D) Internet

T & @ ST A1 vF YHR FT Seeieafhr el g2

A) 3ceic (Intranet) B) UsEceic (Extranet)
C) el TRAT Acash (Local Area Network) D) seIsie (Internet)

Answer Key : C Your Response : B (Wrong)

Question No. 40

A diode for which you can change the reverse bias and thus vary the capacitance is called a-
A) Switching diode B) Varactor diode

C) Tunnel diode D) Zener diode

, 9% 3113 § oY 3T R I~ 1 9o Toha & 31 owd aiar (capacitance)

et

A) REafder sms (Switching diode) B) a&eX SIS (Varactor diode)

C) &sTef S8 (Tunnel diode) D) 35X 3™IS (Zener diode)
Answer Key : B Your Response : B (Correct)

Question No. 41

The process of removing unwanted part of an image is called-
A) Bordering B) Cutting

C) Hiding D) Cropping

e s & 3EifSa AwT Fr gersr Hr YfHAT Fr FAT FT ST 87

A) STSRET B) wfcar
C) grfsar D) Ifder
Answer Key : D Your Response : D (Correct)

Question No. 42

Which of the following is a correct comment in C++?
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A) /* Comment */ B) */ Comments */

C) {Comment} D) * Comment **

C++ # famfaf@a & & =l a1 agr 9 87

A) /» Comment */ B) */ Comments */
C) { Comment } D) ** Comment *x*
Answer Key : A Your Response : A (Correct)

Question No. 43

Which of the following is NOT a boot sector virus?
A) Brain B) Stoned

C) Elk cloner D) Creeper

ffaf@d & @ = g Q9T a”Ry 76 82

A) s B) ¥cIvg
C) Uesh FalelX D) X
Answer Key : D Your Response : A (Wrong)

Question No. 44

Stadia is a video game streaming of-

A) Google B) Apple
C) Microsoft D) Atari
wefsar &1 U EfAT AT A7 B
A) 3@ B) TtOo
C) HAISHIATFE D) 37erY (Atari)
Answer Key : A Your Response : Not Answered

Question No. 45

Full form of POPs is -
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A) Persistent Organic Pesticides

C) Persistent Oxidizing Pollutants

POP & quf & =T 87
A) RAEe 3nifas afcassa
C) WiAEce IS doeeH

Answer Key : D

GET IT ON
Google Play

B) Permanent Organic Pesticides

D) Persistent Organic Pollutants

B) WdALc 3mfflas dcassa
D) Wf&EEe 3mffes dreded

Your Response : D (Correct)

Question No. 46

The thickness of a 50 Hz transformer lamination is-

A) 0.5mm B) 0.15mm
C) 3.5mm D) 0.35 mm
50 Hz TEGER Affaee fr Aers grelr &l

A) 0.5 g7 B) 0.15 fA#T
C) 3.5 fasT D) 0.35 fa#T

Answer Key : D

Narang Cup is associated with which sport?

A) Badminton

C) Hockey

AR FU fFE @9 ¥ "@&faa 87
A) dsfHeT
C) giehr

Answer Key : A

LAN, WAN and MAN are computer networks covering different area. Their first alphabets L, W

Your Response : Not Answered

Question No. 47

B) Football

D) Basketball

B) $edlel
D) ST&hedld

Your Response : C (Wrong)

Question No. 48
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and M respectively stand for-
A) Long, Wireless and Metropolitan B) Local, Wide and Metropolitan

C) Least, Wireless and Maximum D) Local, World and Middle

LAN, WAN 3R MAN #eX sicad ¢ Sii elal-3relel &7 H Fal Fd §, 3% Jgel @R L, W
3R M & FHer: quf §7 41 Fem?

A) @ (Long), ar”Red (Wireless ) 3R B) diehel (Local), ass (Wide) 3R &AifelcsT

HAcitelesT (Metropolitan) (Metropolitan)

C) @ikc (Least), aRe®@ (Wireless) 3R D) @ldhad (Local), des (world) 3R f@Asar
AfFaHaA (Maximum) (Middle)
Answer Key : B Your Response : B (Correct)

Question No. 49

Where is Kandaleru Dam located?

A) Goa B) Maharashtra
C) Kerala D) Andhra Pradesh
A) aiar B) HERISE
C) el D) 31 gcer
Answer Key : D Your Response : B (Wrong)

Question No. 50

Which material has the highest electrical conductivity?
A) Steel B) Silver

C) Aluminium D) Lead

fre weret % oaaw fagga arerar (highest electrical conductivity) gl 87
A) e B) T
C) 3tegHifags D) o3
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Answer Key : B Your Response : B (Correct)

Question No. 51

A high Q-quartz crystal exhibits series resonance at the frequency wg and parallel resonance at

Wp, then-
A) wg is very close but less than wy B) ws is very close, but greater than wp,
C) ws>>wp D) ws << wp

U I QS feeed, it ws W AT I 3R wp, W AAERR 3efelie FeRid T
g o |

A) ws SEA FelST (close) g, dfhed w, & ®A B) wsa“g’aa;ﬂa%,amwp?rm%
J

C) ws >> wp D) ws << wp

Answer Key : A Your Response : B (Wrong)

Question No. 52

When a magnesium ribbon is burnt in air, the ash formed is-

A) Pink B) Black
C) White D) Yellow
ST ATNRTA F v BT Y gar F FTAR— IA1r g, A 3 3= I gl gl
A) ITeTsT B) el
C) d%g D) el
Answer Key : C Your Response : C (Correct)

Question No. 53
Name the technique used to separate butter from curd.
A) Centrifugation B) Sublimation

C) Evaporation D) Filtration
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AFGA H e N 3T A ¢ TYFd dAhellh T A1H ST

A) 3T9%gur (Centrifugation) B) 3¥ddrdsT (Sublimation)
C) arsdfieuT (Evaporation) D) fadceT (Filtration)
Answer Key : A Your Response : A (Correct)

Question No. 54

are electronic switches that actuate when a small external voltage is applied

across the terminals.
A) Electromechanical relays B) Reed relays

C) Solid state relays D) Latching relays

W gAFCI e a9 § S T TFUC (actuate) Bl § 519 U et aEg Ao #
3oTeh CfdeTal & R-UR ST 1T gl

A) sodcHFhad R (Electromechanical B) I8 R (Reed relays)

relays)
C) difeis Tee Rer (Solid state relays) D) «f¥er R (Latching relays)
Answer Key : C Your Response : D (Wrong)
Question No. 55
A semiconductor has generally valence electrons.
A) 3 B) 4
C) 6 D) 2
T AHRsFR (3reEreF) #F 9 ST goele aid 8l
A) 3 B) 4
C) 6 D) 2
Answer Key : B Your Response : B (Correct)

Question No. 56

Name the PCB side on which the components are mounted.
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A) Component side B) Solder side

C) Copper side D) Track side

39 PCB Hdg (side) FT s §d15¢ ST 9 ¥es (component) ¢T gl §2

A) gcs ddg (Component side) B) d#lesy dde (Solder side)
C) @R &dg (Copper side) D) ¢& @dg (Track side)
Answer Key : A Your Response : A (Correct)

Question No. 57

A 0-25 A ammeter has a guaranteed accuracy of 1 percent of full scale reading. The current
measured by this instrument is 10 A. Determine the limiting error in percentage.

A) 10.00% B) 7.50%

C) 2.50% D) 5.00%

0-25 THIEY # RS AT (guaranteed accuracy) $ef Fhet ST & 1 iR & W= &
$H 3YHIOT G@RT AT 1§ 4RT 10 A &1 9faerd & @AT I (limiting error) T fAERor H1?

A) 10.00% B) 7.50%
C) 2.50% D) 5.00%
Answer Key : C Your Response : C (Correct)

Question No. 58

The function of de-emphasis circuit is-
A) To boost HF response of audio amplifier B) To maintain adequate S/N ratio

C) To bring back higher frequencies to their D) To bring back lower frequencies to their

original level original level

Y& 9ol (de-emphasis) IRTY F7 FF FT 87

A) ISl TWUANBRR & HF  3gfhar B) 3fRA S/N 3f[Urd ST 3@
(Response) &I §Fc e

C) 3= 3gfcadl &I 30 HT TR R amy D) AT angfcadl A 3¢ I TR W a9d
olleT olleT
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Answer Key : C Your Response : B (Wrong)

Question No. 59

Which of the following is called the address operator?
A) * B) %

C) & D)

farfaf@a # @ R v3d 3ReT Fgr J1ar g2

A) * B) %
C) & D) _
Answer Key : C Your Response : D (Wrong)

Question No. 60

A is an electronic circuit that changes the DC level of a signal to the desired level

without changing the shape of the applied signal.
A) Rectifier B) Clamper

C) Slicer D) Limiter

T Folacieih Afde g S T fAeed & DC &R & o] fFv 9w f@vstar & 3R
I g T qifdd T dF g6l T 8l

A) YFewrR (Rectifier) B) FolaX (Clamper)
C) Farsal (Slicer) D) faf@ex (Limiter)
Answer Key : B Your Response : B (Correct)

Question No. 61

In a compound such as water, the ratio of the mass of hydrogen to the mass of oxygen is

always-
A) 1:8 B) 1:16
C) 3:16 D) 2:8

frlr 4, I¥ - I A, o & geFAE AR IHFNTT F GSAAG F AU FA
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A &l
A) 1:8 B) 1:16
C) 3:16 D) 2:8
Answer Key : A Your Response : A (Correct)

Question No. 62

What is the hexadecimal equivalent of this binary number (1110)2?

A) F B) B

C) A D) E

(1110), SN HEAT HT gFAfAAST Awqor _ B

A) F B) B
C) A D) E
Answer Key : D Your Response : D (Correct)

Question No. 63

The server on the Internet is also known as-

A) Gateway B) Repeater
C) Host D) Hub
FeAC W {AR A s gr ST B
A) Jcd (Gateway) B) Rdtex (Repeater)
C) gree (Host) D) &« (Hub)
Answer Key : C Your Response : C (Correct)

Question No. 64

The other name for the common collector amplifier is-
A) Base follower B) Emitter follower

C) Collect follower D) Impedance follower
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33afAss HATEr (common collector) TFINBRR FT GEIT AH FAT §7

A) S8 widiaR (Base follower) B) tufAex wieiiax (Emitter follower)
C) @Folae Bidiax (Collect follower) D) sFdIsH wialaX (Impedance follower)
Answer Key : B Your Response : B (Correct)

Question No. 65

Resting potential of neuron is-

A) +0.1mV B) -70 mV
C) -210 mV D) +20 mV
T T AT fawa (Resting potential) &1
A) +0.1 mV B) -70 mV
C) -210 mV D) +20 mV
Answer Key : B Your Response : Not Answered

Question No. 66

Who among the following was the President of the Constituent Assembly?
A) C. Rajagopalachari B) Jawaharlal Nehru

C) B.R. Ambedkar D) Rajendra Prasad

=@ & @ #ia g g & reasr A7

A) C. JTSEMYTATARY B) SIAEX oTel =Ig®
C) B.R. 3dg& D) TSleg 9dTG
Answer Key : D Your Response : D (Correct)

Question No. 67

1 dB corresponds to change in power level.
A) 35% B) 26%

C) 50% D) 14%
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1 dB 9ia¥ oiad (power level) & IRETT F T B
A) 35% B) 26%
C) 50% D) 14%
Answer Key : B Your Response : C (Wrong)

Question No. 68

is a device which is used to connect multiple networks and passes packets from
one packet to the other network.

A) Hub B) Gateway

C) Proxy Server D) Switch

, a8 f3asw St R Wi aiar acas H s (connect multiple networks) & faw
farar ST § 3R Y3 A ve e ¥ gAY Acad FH AT ST B

A) &S (Hub) B) dcad (Gateway)
C) wrerdr ¥axX (Proxy Server) D) &= (Switch)
Answer Key : B Your Response : C (Wrong)

Question No. 69

Three resistors each of 3 Q are connected in parallel; the equivalent resistance is-
A) 1Q B) 6Q

C) 9Q D) 1/3Q

3 Q & o iy FAEICR %A A 3 §U & FAGed Va0 Fr gIm?

A) 1Q B) 6 Q
C) 9Q D) 1/3 Q
Answer Key : A Your Response : A (Correct)

Question No. 70

Montreal protocol refers to-

A) Substances that deplete ozone layer B) Biosafety of genetically modified
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organisms

C) Global warming and climate change D) Persistent organic fertilizers

Aifecae WeYpie B defia &ar &2
A) 3o gerdf &, S ISl W & &7 d  B) 3MeIdieh &9 & G Sfal & sta geetm
4

C) Joliael arffAer a STorary aRad= D) foRaR Sifas 38Rt &r

Answer Key : A Your Response : C (Wrong)

Question No. 71

If two capacitors of 4 pF each are connected in series, their total capacitance is-
A) 2pF B) 4 pF

C) 16 pF D) 8 pF

o 9% 4 pF F & FuRT (W) Ao F7 7 3 g &, & 37h T aRar @)
AT FI

A) 2 pF B) 4 pF
C) 16 pF D) 8 pF
Answer Key : A Your Response : A (Correct)

Question No. 72

Which of the following is the latest version of Android?

A) Android Oreo B) Android Pie
C) Android Nougat D) Android Kitkat
USIGS T AdlTdd HEHIOT SleT AT g7
A) UgTs SR B) ugfts 1$
C) Ugits alre D) Uglts fahedhe
Answer Key : B Your Response : A (Wrong)

Question No. 73
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Molarity is-

A) The number of moles of a solute present

in one litre of the solvent

C) The number of moles of a solute present
in one kilogram of the solvent

ATREY 4T 872

A) T Wi fdomaes & #Alse faod & Al
I FqEr

C) W& fholamA faemaes # HAige fed &
Al T gET

Answer Key : D

GET IT ON
Google Play

B) The number of moles of a solute present in
one kilogram of the solution

D) The number of moles of a solute present in
one litre of the solution

B) Ts fhelland faeae & Algg faoid & #Aral
dr G

D) Te X faoraed & Al faog & Al &
q&ar

Your Response : C (Wrong)

Question No. 74

The IC used for making a bidirectional universal shift register is-

A) 7498

C) 74194

B) 7494

D) 7495

iR aiAes Rive Tt T & AT J1hr fFar S arer IC 308 & Sl @ &2

A) 7498

C) 74194

Answer Key : C

B) 7494

D) 7495

Your Response : Not Answered

Question No. 75

Which symbol is used as a statement terminator in C?

A) |

C) %

B) #

D) ;

C ¥ wecde e & &7 & g udie Fr 39T fFar Srar 82

A) |

B) #
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C) % D) ;

Answer Key : D Your Response : A (Wrong)

Question No. 76

Heating effect of electric current is used in-

A) Both fan and television B) Television
C) Fan D) Electric bulb
faega arr & iy wena @ 3wEer 3 R S g
A) 9@ AR Tefdste gleir B) ehfasteT
C) udr D) facgd sev
Answer Key : D Your Response : D (Correct)

Question No. 77

Select the most environment friendly method of insect control from the following:
A) Crop rotation and intercropping B) Application of Chlorinated hydrocarbons

C) Application of Organophosphates D) Application of pyrethroids

&1 & FleT A e faor A gdiemor & waiftF aegge 82

A) BT FT THUT AR HIT-BE 3T B) FoIRITged ESIhleall I Todlar
C) 3NfAIhIEheH I eI D) URRYUISSH I JHeTorer
Answer Key : A Your Response : A (Correct)

Question No. 78

The envelope detector is a/an-

A) Product demodulator B) Coherent detector
C) Synchronous detector D) Asynchronous detector
Tgdq f3eaeT (envelope detector) Teh gl

A) WisFe AZeX (Product demodulator) B) @Ifglec T3¢ (Coherent detector)
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C) Jeushifaleh f3¢eFeX (Synchronous detector) D) 3fJeashifclsh fBeTFx (Asynchronous
detector)
Answer Key : D Your Response : Not Answered

Question No. 79

Transformer coupling is not used in audio frequency amplifiers, because-
A) The cost of transformer is high B) The transformers are bulky

C) All of the options D) Itintroduces frequency distortion

ST 7R (coupling) T ITANT HifEAT Hreil wraelierRt 7 =gl fhar ST 8, Fifs-

A) TEBEFT &1 derd 3if8s gidr 1 B) TR AT 8 &1
C) fashedr & @ Tl D) ¥ 3gficd fashfa (frequency distortion) @t
@ &ar gl
Answer Key : C Your Response : C (Correct)

Question No. 80

What is the capacity of ISRO rocket launch viewing facility that was opened for first time in
Andhra Pradesh?

A) 8000 B) 6000

C) 5000 D) 7000

3T 9w F ggell R Wrelt 915 ISRO e F&ToT T2 &raf it &3 ar frce &7

A) 8000 B) 6000
C) 5000 D) 7000
Answer Key : C Your Response : A (Wrong)

Question No. 81

Which of the following is NOT a semiconductor?
A) Wood B) Selenium

C) Germanium D) Silicon
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=faf@a & @ +ls7 @r 3t (semiconductor) FET §7

A) oI&sr B) @afaus
C) ST D) faforepiar
Answer Key : A Your Response : A (Correct)

Question No. 82

Dielectric strength is expressed in per unit thickness of

the insulating material.
A) Volts B) Watts

C) Ohms D) Amperes

gfadegfa® gaerar (Dielectric strength), faggaer g #ir ufa sorg Aled F w7 #
oged I ST B

A) adrec B) drc
C) 3= D) VPRI
Answer Key : A Your Response : C (Wrong)

Question No. 83

Gunn diode is made of-
A) Gallium Arsenide B) Germanium

C) Silicon D) Selenium

3T 3IAS (Gunn diode) fFEY ST SATET &7

A) Siforad 3mdfass B) SHfAT#H
C) fafeera D) @efags
Answer Key : A Your Response : A (Correct)

Question No. 84

Which of the following is NOT an halogen?

A) lodine B) Tellurium
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C) Fluorine D) Astatine
farfaf@a 37 & S ar gallore sigr 872
A) ITAERT B) TgRaH
C) WIleT D) uwEeres
Answer Key : B Your Response : B (Correct)

Question No. 85

In an electrical circuit, fuse is blown and the circuit is cut-off due to-

A) Low voltage B) Excessive current

C) High inductance D) Excessive voltage

fega ooy #, & HROT W1 33T § 3R aRuy RFafa (cut-off) g Jrar g

A) % diecst (Low voltage) B) 31caf¥ie &RT (Excessive current)

C) 3= WUT (High inductance) D) 37caf¥ie dlecar (Excessive voltage)
Answer Key : B Your Response : D (Wrong)

Question No. 86

Which of the following antennas is the standard reference antenna for the directiveness?
A) Half wave doublet B) lIsotropic antenna

C) Rhombic antenna D) Elementary doublet

ffaf@a & ¥ =9 @r vear &R (directiveness) & fAT AWF T WA (standard

reference antenna) &7

A) g% dd sdelc (Half wave doublet) B) 3msdicifUe U (Isotropic antenna)
C) UfFas T (Rhombic antenna) D) TellA=cdl sdelc (Elementary doublet)
Answer Key : B Your Response : B (Correct)

Question No. 87

What is the full form of ISDN with respect to Communication Engineering?
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A) Inter Subscriber Digital Network B) Inter Services Digital Network

C) Integrated Services Digital Network D) Integrated Subscriber Digital Network

FAR SSNfAANET & HeEr 37 ISDN & qof &9 =T §?

A) ST et 3fScd Acasn B) X afdusr f3feed secas
C) 3¢rIcs dfader fBfoiee Acas D) &éRics TeawsaR 3foca Acas
Answer Key : C Your Response : C (Correct)

Question No. 88

The RMS value and mean value is the same in the case of-
A) Sine wave B) Half wave rectified sine wave

C) Triangular wave D) Symmetrical Square wave

& A ¥ RMS AT 3R #A1ET AT (mean value) TAE 8 &1

A) @S T (Sine wave) B) &% dd (FIWEs AR oI (Half wave
rectified sine wave)
C) i a@T (Triangular wave) D) @A T T (Symmetrical Square
wave)
Answer Key : D Your Response : D (Correct)

Question No. 89

The register in the 8085A that is used to keep track of the memory address of the next op-code
to be run in the program is the-

A) Program counter B) Accumulator

C) Stack pointer D) Instruction pointer

8085A #H IGeY, O WA # 30Tl AT A dlel op-hE & AAN Uad & ¢ A & AU
39T AT ST &, hgeltar Bl

A) HRITH FISTT B) TEgHAI

C) T&h @Y D) STCFAA Tarse
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Answer Key : A Your Response : D (Wrong)

Question No. 90

Which of the following function is used to find the last occurrence of a character in a string?
A) strstr() B) strnset()

C) strrchr() D) laststr()

ffaf@d 7 ¥ F v #7 39T BT # R $aet v 3i1fA7 gear & A9 o F Qv
forar Srar 87

A) strstr() B) strnset()
C) strrchr() D) laststr()
Answer Key : C Your Response : B (Wrong)

Question No. 91

What is the ripple factor of fullwave bridge rectifier?
A) 1.321 B) 0.482

C) 1.212 D) 1.414

Pl 99 foreT WFEHRIT F1 T FR (ripple factor) T 872

A) 1.321 B) 0.482
C) 1.212 D) 1.414
Answer Key : B Your Response : B (Correct)

Question No. 92

Which isotope is used in the treatment of Goitre?
A) Uranium B) lodine

C) Cobalt D) Chlorine

HHr (Goitre) % 3UUR 7 T GATAAS (isotope) &I 39AWT fRAT SATAT 872
A) I B) S
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C) FidTec D) FelieT

Answer Key : B Your Response : B (Correct)

Question No. 93

Applets are written in programming language.
A) C B) Java
C) C# D) C++
e (Applets) ®F _ WianfAer smwr F fo@r Siar 1
A) C B) Java
C) C# D) C++
Answer Key : B Your Response : Not Answered

Question No. 94

When was the National Green Tribunal (NGT) established?
A) 2006 B) 2005

C) 2000 D) 2010

Tl Mo EegeAeT (NGT) i TG Fw fir 15 A2

A) 2006 B) 2005
C) 2000 D) 2010
Answer Key : D Your Response : B (Wrong)

Question No. 95

A half wave rectifier requires-

A) One diode B) Metal rectifier in bridge formation
C) Four diodes in a bridge formation D) Two diodes
T sy (half wave rectifier) & T ERIHAT B B

A) T& 31 B) &g fo#Tor & &g Ydewry
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C) ¥q f@&T # IR s/ D) & S8

Answer Key : A Your Response : A (Correct)

Question No. 96

The power of a concave lens is -0.5D. What is its focal length?
A) 4m B) 2m

C) -3m D) -4m

T IHadd o F T &THaT -0.5D ¥ FHAN Wil g AT HforT]

A) 4 AlX B) -2 #HIX
C) -3 AlX D) -4 #HIcX
Answer Key : B Your Response : B (Correct)

Question No. 97

What is the value range for the standard integer type 'int'?
A) -32768 to +32767 B) 0to 256

C) No specific range D) -65536 to +65536

HAleteh Sfeco €8T 'int' & fAT AT AT (value range) &T §?

A) -32768 & +32767 B) 0 & 256
C) =+ fafdrse daT =81 D) -65536 & +65536
Answer Key : A Your Response : D (Wrong)

Question No. 98

Which of the following concepts is used by ultra sound scanners to find abnormalities in internal
organs of human beings?

A) Ultrasonic waves are converted to sound B) Ultra sonic waves produce harmful effects

waves by defects in organs when defects are found

C) Ultrasonic waves are sent through the D) Ultrasonic waves pass throughout the body

tissues of the body, and it gets reflected without reflecting
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back when there is a change of tissue
density

AT & AR 3FT H FlSg HWHAIABN FT 9T TR & TIFT el T3S The @RI Faasl
¥ fFF r@urRoT F1 39T FAr ST 82

A) WHeT dd@r (Ultrasonic waves), 3@ & B) ¥ Utd gl W Wsed adr (Ultrasonic
Algg av garT tafy e #F oRafda & waves) gIfRE THIT 39T Il ¢
e €1

C) W#ed W@ (Ultrasonic waves) R & D) Wrsed @ (Ultrasonic  waves) foar
ol & TR 8, AR Fdh & °edca A Wﬁﬁg‘t’f{l’%mﬂ:ﬁwgl
aRadd gl W Ig 98 Wafdd gl gl

Answer Key : C Your Response : C (Correct)

Question No. 99

Which state has the longest coastline in India?
A) Gujarat B) Tamil Nadu

C) Andhra Pradesh D) Karnataka

RT ¥ FE T Y a¢ Y@ ged & &2

A) RIS B) dfferg
C) 3Ter ucer D) Felesh
Answer Key : A Your Response : A (Correct)

Question No. 100

The radix/base of octal number system is-
A) 4 B) 8

C) 2 D) 10

1S HEAT YoTelr (octal number system) & Heiw/3TUR et giar 87
A) 4 B) 8

C) 2 D) 10
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Answer Key : B Your Response : B (Correct)

Question No. 101

Sonal Mansingh is an Indian-

A) Western singer B) Classical singer
C) Western dancer D) Classical dancer
Tl AGRAE T AR el
A) 9RATT AT B) ey anfdehr
C) 9redred aAcehr D) eMEST Actehr
Answer Key : D Your Response : A (Wrong)

Question No. 102

Who among the following founded the Banaras Hindu University?
A) Madan Mohan Malaviya B) Gopala Krishna Gokhale

C) Lala Lajpat Rai D) Jawahar Lal Nehru

TR fig farafacamery i Turver o7 & st $r 42

A) AT HIgeT ATAIT B) aNGTe FOT Mol
C) el drelad I D) SAEX ol =ig®
Answer Key : A Your Response : A (Correct)

Question No. 103

A double beam oscilloscope has-

A) Two screens B) Two electron guns

C) One vertical amplifier D) Two different phosphor coatings
39 S adsigeit (oscilloscope) & giar gl

A) @I &hieT (Two screens) B) g&r Selacisl I (Two electron guns)

C) T FtaTeR TEIeIHRX  (One vertical D) @ 3(e@-37eldT  BIEHR  &ifead  (Two
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amplifier) different phosphor coatings)

Answer Key : B Your Response : C (Wrong)

Question No. 104

Which of the following components convert fixed DC to variable DC?
A) Rectifiers B) Choppers

C) Cycloconverters D) Inverters

frfaf@a #F & FiT a1 gea R DC #r gRadr DC # gRafda a=ar &7

A) IFeHRR B) TR
C) dSFalhrdcs D) SeacT
Answer Key : B Your Response : B (Correct)

Question No. 105

Process of transferring data electronically from one place to another is called-

A) Data communication B) Data receiving

C) Data processing D) Data sending

goalelh ¥ ¥ Th T § g T W ST TEdRa a1 gfskar # FeT
ST 8l

A) 32T FEgfAHNeT (Data communication) B) 3er RAfder (Data receiving)
C) 3er yrifder (Data processing) D) Ser df39r (Data sending)

Answer Key : A Your Response : A (Correct)

Question No. 106

Other than the Sun, which is the next nearest star to Earth?
A) Middle most star of Three stars of Orion B) Sirius

C) Alpha Centauri D) Pole star

T & 3rerman, g F Aweand a)T Hl @ §?
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A) 3NRIT F T dRT & FLT ST dRT B) I dRT (Sirius)
C) &= arr (Alpha Centauri) D) ¢a arr (Pole star)
Answer Key : C Your Response : C (Correct)

Question No. 107

Computer memory which allows simultaneous read and write operations is:
A) ROM B) EPROM

C) EEPROM D) RAM

&g AR F wuy 85 (read) 3R [T (write) FY HaTeT T B

A) ROM B) EPROM
C) EEPROM D) RAM
Answer Key : D Your Response : D (Correct)

Question No. 108

The Red Data book which lists endangered species is maintained -

A) UNO B) IUCN
C) WHO D) WWF
AT FSMferat ) Feag F A [T 3T qH __ G@ERT AR Fr Sl B
A) UNO B) IUCN
C) WHO D) WWF
Answer Key : B Your Response : A (Wrong)

Question No. 109

is used to measure pressure directly.
A) Rotameter B) LVDT

C) Strain gauge D) Bourdon tube

FT 3949 DY T FF A9 F AT fFAar Srar g
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A) JeTHY B) LVDT
C) fasfa & (Strain gauge) D) SRSl g« (Bourdon tube)
Answer Key : D Your Response : B (Wrong)

Question No. 110

A 4-bit binary ripple counter uses flip-flop with a propagation delay time of 25ns each. The
maximum possible time required for change of state will be-

A) 100ns B) 25ns

C) 50ns D) 75ns

4-f3T S5 RaeT F13eX #F 25ns & HOT fAda Fe gl FAqd-Fellq FT 3IAIT gar g1 aer
qRads & AT maeas Gnfad Fe gl

A) 100ns B) 25ns
C) 50ns D) 75ns
Answer Key: A Your Response : A (Correct)

Question No. 111

Digital voltmeter converts

A) Resistance to voltage B) Analog to digital signal

C) Current to voltage D) Digital to analog signal

BfSea deerer # uRafda e gl

A) 9faer &t dlecs B) uaTaldr &1 Bfoea e

C) YRT &l dlecal D) f3fSca & vaTaier f&adter
Answer Key : B Your Response : A (Wrong)

Question No. 112

What is the time period of a monostable 555 multivibrator?
A) T=3RC B) T=RC

C) T=11RC D) T=0.33RC
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& AT 555 FAGCIAIgaey T ATdalel fhcell giar &7

A) T = 3RC B) T=RC
C) T=11RC D) T = 0.33RC
Answer Key : C Your Response : C (Correct)

Question No. 113

The parallel outputs of a counter circuit represent the:

A) Clock count B) Clock frequency

C) Counter modules D) Parallel data word

FI5EX Wihe & FAGIKR M3EYE = fAeRd #=a ¢

A) e F3¢ (Clock count) B) @relg 3Mgfc (Clock frequency)

C) &13cT Al (Counter module) D) ¥HAACR 3T sg (Parallel data word)
Answer Key : A Your Response : D (Wrong)

Question No. 114

Which of the following is a secondary air pollutant?

A) Carbon dioxide B) Ozone

C) Carbon monoxide D) Sulphur dioxide

s ¥ Pl W gfadEE g SguE 87

A) P STE3FATSS B) NSl

C) @aa AN3iFass D) oW SEHTHISS
Answer Key : B Your Response : A (Wrong)

Question No. 115

The reciprocal of resistance is-
A) Coulomb B) Conductance

C) Impedance D) Henry
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iR T g g Bl
A) FolH B) &sacH
C) sFiisH D) &=
Answer Key : B Your Response : B (Correct)

Question No. 116

Probability density function of thermal noise is-

A) Poisson B) Binomial
C) Gaussian D) Bessel
dT @ (thermal noise) Fr IRAFAT TacT Beled giar g
A) drar (Poisson) B) gfdug (Binomial)
C) f¥aasT (Gaussian) D) S8« (Bessel)
Answer Key : C Your Response : C (Correct)

Question No. 117

Headquarters of Bioversity International is located at -
A) Rome B) Manila

C) Paris D) Geneva

TRAIATHE SeAATS FT HEATOT Fgl AT 87

A) UH B) Helrell
C) 9R® D) fSaar
Answer Key : A Your Response : D (Wrong)

Question No. 118

The rotation of water sprinkler used for grass lawn as soon as the water is supplied is based on
the principle of-

A) Newton's 3rd law of motion B) Newton's 2nd law of motion

C) Newton's 1st law of motion D) Both Newton's first and second law of
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motion

urelt #r 3MYft o B & T & g F o RBswE 37 w U R Rgia | amaRe gar
&

A) g T A FT AT A B) =geeT T aIfd T @ fogd
C) #geeT &l Ifd & gell fiaA D) #gesT & aifd & ugel 3R g fage gt
Answer Key : A Your Response : D (Wrong)

Question No. 119

Maxwell's divergence equationfor the magnetic field is given by-

A) B)

VxB=0 V.B=0

0] D)

VxB=p V.B=p

?I;Eﬁ'ﬂ' gy & v fogaad & Guaa gHs=ur  (Maxwell's

divergence equation) 3l IRy gRATT ST

A) B)

VxB=0 V.B=0
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0 D)

VxB=p V.B=p

Answer Key : B Your Response : B (Correct)

Question No. 120

Increased pulse width in the flat top sampling leads to-
A) No harmful effects in reproduction B) Greater aliasing errors in reproduction

C) Attenuation of high frequencies in D) Attenuation of low frequencies in
reproduction reproduction

Fele efq Hafeler & wig $r dtsrg & gfe T FROT el B
A) FAEcUTEs H @IS EIfdchRe Jo1d ol 81 B) Yaadcdies & vfoanfder Jieat & sifterdr

C) Yei&cdieal (reproduction) # 3= Hdfcadl D) YeidedlesT H foet ngfeaal & awor
& &ROT

Answer Key : C Your Response : B (Wrong)

Question No. 121

Which element has 10 electrons?
A) Na B) Ne

C) Ar D) He

fFa dca(element) 7 10 el 81 &7

A) Na B) Ne
C) Ar D) He
Answer Key : B Your Response : B (Correct)

Question No. 122

The term “Delayed AGC” implies the application of AGC-
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A) After switching on of on-off switch B) Only when signal strength has increased

beyond a specified value

C) To the last stage of receiver D) After some time lag

e "3ds AGC" gfaa #XaT & F AGC #r Yeeliseret |
A) 3iT-3iT% g WX BaT ol & aI¢ gldT & B) dhad o9 Q9dAa AFd U Afese A @

3% 9¢ TS §
C) REaX & AHfaed TRoT d gar g D) % #AY §Ig o Il §
Answer Key : B Your Response : Not Answered

Question No. 123

What is the full form of FTP?
A) File transfer protocol B) Form transmission protocol

C) File transmission protocol D) Form transfer protocol

FTP &1 qof &7 =R 872

A) BB TEATI Feihiel B) Wid TIATARGT Welhlel
C) WIS CrATALI Hicihiel D) WIH AW Weihiol
Answer Key : A Your Response : A (Correct)

Question No. 124

Kirchhoff's law will fail in case of-

A) Distributed parameter networks B) Dual networks
C) Linear networks D) Non linear networks
s & e & AHAS FH W] TET e gl

A) faaRa W#HT  Acas  (Distributed B) 3ol Aca® (Dual networks)

parameter networks)

C) ¥f@& sica® (Linear networks) D) 3R Y& scas (Non linear networks)

Answer Key : A Your Response : A (Correct)
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Question No. 125

Which of the following gases is evolved when baking soda reacts with an acetic acid?

A) CO B) H,

C) CHy4 D) O2

afher AT & TRRE 3 F T IATFA A W s § FiaT @ A 3797 ar &2

A) CO, B) H>
C) CHy D) O,
Answer Key : A Your Response : A (Correct)

Question No. 126

A network has 7 nodes and 5 independent loops. What is the total number of branches in this
network?

A) 12 B) 11

C) 13 D) 10

T Acaw # 7 A AR 5 3EdeSe o §1 59 Aca®w # FoT fhcel AT (branches) §7?

A) 12 B) 11
C) 13 D) 10
Answer Key : B Your Response : B (Correct)

Question No. 127

is the device which acts like an N-P-N and a P-N-P transistor connected base-to-

base and emitter-to-collector.
A) TRIAC B) SCR

C) UJT D) DIAC

U B3 gl § S 99-g-9¥ AR vfReT-gFaae & § # F3 N-P-N 3R P-N-P
giforeey i RE S e 8

A) TRIAC B) SCR
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C) UJT D) DIAC

Answer Key : B Your Response : B (Correct)

Question No. 128

Who is sometimes referred to as 'Payyoli Express'?
A) Shiny Abraham B) Jyotirmoyee Sikdar

C) P.T. Usha D) Anju Bobby George

Y Fh-Far g vEESE FRT ST 87

A) ST 3TSEH B) Saifasl Rsex
C) P.T. 39T D) 31\_:[\ CICIRCIC
Answer Key : C Your Response : C (Correct)

Question No. 129

What is a zip drive?

A) A medium capacity removable disk B) An output device

storage system

C) An input device D) Software

9 g5 = 57

A) TS ALIH &THACT geld Qg f3&h HSRUT B) Us 3M3eyc f3asd
EIC)

C) w& siqe fsasw D) ez
Answer Key : A Your Response : D (Wrong)

Question No. 130

What is the effect of current shunt feedback in an amplifier?

A) Decrease the input resistance and B) Decrease both the input and output
increase the output resistance resistances

C) Increase the input resistance and D) Increase both input and output resistances
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decrease the output resistance

THINPRR 3 4RT 2ic Fd+ (current shunt feedback) &1 T WHIE @ar &7

A) g9e iy e 3R 3Bege 9fakiyr B) Se9c 3R 3mEeqe gfoRier &l germr
EraE)

C) s=iYc UfeRIYU dogrem 3R 33eye iRk D) geiqe 3R 3m3eye Fiakiyr et dgmim
HeTeT

Answer Key : A Your Response : C (Wrong)

Question No. 131

E-mail address is made up of-

A) Four parts B) Three parts
C) Two parts D) Single part
I wEH__ Al
A) TR AT B) dleT #mer
C) ar #meT D) Teh #HT9T
Answer Key : C Your Response : C (Correct)

Question No. 132

'World Leprosy Day' is observed on the last Sunday of-

A) January B) March
C) February D) April
faeT v Raw & 3ifasr WaR #r 7T e B
A) Stad B) #HAMT
C) WIadr D) 3
Answer Key : A Your Response : A (Correct)

Question No. 133

The technique of assigning a memory address to each I/O device in the computer system is
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called-
A) Ported I/O B) Dedicated I/O
C) Memory-mapped I/O D) Wired I/O

FFYR A 7 9@ /0 BaEd & tF AR 9ar Wa e i ddei,
FEaTCT gl

A) 9és 1/0 B) sf3&cs 110
C) #AN-#ATE 1/0 D) ags 1/0
Answer Key : C Your Response : C (Correct)

Question No. 134

is the average amount of information that must be delivered in order to resolve the
uncertainty about the outcome of a trial.

A) Bandwidth B) Entropy

C) Quantum D) Loss

T WE0r & IRUIH F R F IARGIdr Fr g7 T F QU IR fr dwa AEr
gl

A) dsfagy (Bandwidth) B) Tecmdl (Entropy)
C) @FaieH (Quantum) D) @ (Loss)
Answer Key : B Your Response : Not Answered

Question No. 135

In the World Bank’s Doing Business (DB) rankings for 2019, India is ranked at ____ position
A) 72nd B) 23rd

C) 65th D) 77th

2019 #f g¢5 d& v 35or faseia (DB) e 3, IR &+ ___ T 9 @M 1 &
A) 728 B) 23d

C) 65§ D) 778
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Answer Key : D Your Response : A (Wrong)

Question No. 136

The source of energy for a satellite is-

A) Solar cell B) Fuel cell
C) Magneto hydrodynamic generator D) Battery
30 & fav 39T # A T @ g2
A) € el B) fue Aa
C) HIACT FIBIISTAHS STelic D) sl
Answer Key : A Your Response : A (Correct)

Question No. 137

Maximum data rate of a channel for a noiseless 2-kHz binary channel is-
A) 2000 bps B) 1000 bps

C) 4000 bps D) 3000 bps

Taele 2-kHz 151 ATal & fov A v 31O 3er T a1 geft?

A) 2000 bps B) 1000 bps
C) 4000 bps D) 3000 bps
Answer Key : C Your Response : A (Wrong)

Question No. 138

Which among the following is a valid string function?
A) Strcut B) Strpbrk

C) Strcmp D) Strxfrm

fafaf@a 7 ¥ Fia ar 3y a1 vareT 2
A) Strcut B) Strpbrk

C) Strcmp D) Strxfrm
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Answer Key : C Your Response : C (Correct)

Question No. 139

Which Mughal emperor's original name was Zahir-ud-Din Muhammad?
A) Humayun B) Akbar

C) Babur D) Aurangazeb

A I FAE FT WA A7 FATR-3G-EIT HgFHE UT?

A) gAY B) 3R
C) §TeX D) 3Rerae
Answer Key : C Your Response : A (Wrong)

Question No. 140

What are the advantages of using Electrical transducers?
A) Small and non-portable B) Large and non-portable

C) Large and portable D) Reduce effects of friction

faegd <WsgET (Electrical transducers) SEAAT A & FAT oIsT 87

A) B IR AlT-gEaaT B) &3 3R sl-gicae
C) &3 3R 9sa D) ©Y¥UT & YHTT I HF el
Answer Key : D Your Response : D (Correct)

Question No. 141

When was the first economic census conducted in India?
A) 1958 B) 1983

C) 1977 D) 1972

RT # ggelr AT ST Fa i 15 A2
A) 1958 B) 1983

C) 1977 D) 1972
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Answer Key : C Your Response : A (Wrong)

Question No. 142

For which of the following calculations can superposition principle be applied?
A) Voltage and power B) Current and power

C) Voltage, current and power D) Voltage and current

Prfaf@a #§ & e aoeT F R gRafrRe Rgia am) @ a6 §2

A) dreest 3R afFa B) urr 3R afed
C) drecd, arT 3R efea D) drecst 3 arr
Answer Key : D Your Response : D (Correct)

Question No. 143

Lion-Tailed Macaque is found in-
A) Western Ghats B) Western Himalaya

C) Eastern Ghats D) Caucasus

fiige@ se< (Lion-Tailed Macaque) Fgl YT ST §7?

A) 4fegsY g B) ufRwaAT feATery
C) gdr ure D) Ifar (Caucasus)
Answer Key : A Your Response : B (Wrong)

Question No. 144

Which of the following is non-linear data structure?
A) Stacks B) Linked list

C) Graph D) Array

farafaf@a 7 & =la @1 AlF-AfAT Ser FFR 872
A) T& (Stacks) B) fefars foree (Linked list)

C) &% (Graph) D) ™Y (Array)
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Answer Key : C Your Response : C (Correct)

Question No. 145

The unit of gravitational constant (G) is-

A) m2s2%kg B) m3s-2kg-"
C) m2s kg™ D) m3s2kg3
IFATHIVT FORGF (G) FAFF _ §
A) m2s2kg B) m3s2kg-!
C) m2slkg D) m3s2kg3
Answer Key : B Your Response : A (Wrong)

Question No. 146

India’s first global, Mega-Science Exhibition ‘Vigyan Samagam’ started at-

A) Jaipur B) Ranchi
C) Mumbai D) Chennai
HRT I Tgell dARaeh, AIMN-FAweT Yelel 'Taarer FAeE 1 e # g3
A) SR B) =i
C) A% D) ¥e=T$
Answer Key : C Your Response : A (Wrong)

Question No. 147

A network is said to be linear if and only if-
A) Principle of additivity applies B) Principle of homogeneity applies

C) Both Principle of additivity and Principle of D) Response is proportional to the excitation

homogeneity function

fFer Acas o Y@F T Fer Srar §, A1 [{E 3 A/E giar &l

A) TrsFAr &1 T@gld @l (Principle  of B) WA®YAT (homogeneity) & f&gid ]



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

additivity applies)

C) Irsadm (additivity) @1 gl 3R FHATYAT D) 3=Ifshar  (Response),  Scdolel  Wold
(homogeneity) & g gt (excitation function) & FHATITIAH

Answer Key : C Your Response : C (Correct)

Question No. 148

Which of the following is the safest ladder to be used while working with electrical appliances?
A) Aluminium B) Steel

C) Metal ladder D) Fiberglass

g 3Tl W FA W AT JgFT Tq0 AT WG Ae=faf@a 7 @ Fia d@r g2

A) TegAfATH Hr B) s&UTd HI
C) e & T D) WIgsR e Hr
Answer Key : D Your Response : D (Correct)

Question No. 149

In an E-R diagram attributes are represented by-

A) Ellipse B) Rectangle
C) Triangle D) Square
& E-R 3M@ # MWeygew (attributes) & EaRT I ST g1
A) &r¥ged (Ellipse) B) 3mad (Rectangle)
C) f81aT (Triangle) D) &3 (Square)
Answer Key : A Your Response : Not Answered

Question No. 150

Which material has the highest electrical conductivity?
A) Aluminium B) Steel

C) Silver D) Lead
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A) TegAHIH

C) drer

Answer Key : C

B) o

GET IT ON
Google Play

Your Response : C (Correct)
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